

State of West Virginia Solicitation Response

Proc Folder: 522965

Solicitation Description: 10-19-0283 STEEL REBAR No. 60 GRADE

Proc Type: Agency Purchase Order

Date issued Solici	itation Closes	Solicitation Response	Version
2019 13:30		SR 0803 ESR03261900000004440	1

VENDOR

VS0000018213

Magee and Associates, LLC

Solicitation Number: ARFQ 0803 DOT1900000036

Total Bid: \$20,924.10 **Response Date:** 2019-03-26 **Response Time:** 17:16:04

Comments:

FOR INFORMATION CONTACT THE BUYER

Dusty J Smith (304) 558-9398 dusty.j.smith@wv.gov

Signature on File FEIN # DATE

All offers subject to all terms and conditions contained in this solicitation

Page: 1 FORM ID: WV-PRC-SR-001

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	610 EA, REBAR BLACK GRADE 60 #5 20FEET IN LENGTH STRAIGHT	610.00000	EA	\$12.650000	\$7,716.50
Comm Code	Manufacturer	Specification		Model #	
11101704					
Extended Des	scription: 610 EA, REBAR BLACK G	RADE 60 #5 20	FEET IN LEN	IGTH STRAIGHT	
Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	40 EA, REBAR EPOXY COATED GRADE 60 #3 20FEET STRAIGHT	40.00000	EA	\$6.200000	\$248.00
Comm Code	Manufacturer	Specification		Model #	
11101704		·			
Extended Des	scription: 40 EA, REBAR EPOXY CO	DATED GRADE	60 #3 20FEE	T STRAIGHT	
Extended Des					Ln Total Or Contract Amount
Extended Des	Comm Ln Desc	Qty 150.00000	60 #3 20FEE Unit Issue	Unit Price \$10.980000	Ln Total Or Contract Amount \$1,647.00
		Qty	Unit Issue	Unit Price	
Extended Des	Comm Ln Desc	Qty	Unit Issue	Unit Price	
Extended Des	Comm Ln Desc 150 EA, REBAR EPOXY COATED GRADE 60 #4 20 FEET STRAIGHT	Qty 150.00000	Unit Issue	Unit Price \$10.980000	
Line 3 Comm Code 11101704	Comm Ln Desc 150 EA, REBAR EPOXY COATED GRADE 60 #4 20 FEET STRAIGHT Manufacturer	Qty 150.00000 Specification	Unit Issue EA	Unit Price \$10.980000 Model #	
Line 3 Comm Code 11101704 Extended Des	Comm Ln Desc 150 EA, REBAR EPOXY COATED GRADE 60 #4 20 FEET STRAIGHT Manufacturer scription: 150 EA, REBAR EPOXY C	Qty 150.00000 Specification	Unit Issue EA	Unit Price \$10.980000 Model #	\$1,647.00
Line 3 Comm Code 11101704	Comm Ln Desc 150 EA, REBAR EPOXY COATED GRADE 60 #4 20 FEET STRAIGHT Manufacturer scription: 150 EA, REBAR EPOXY C	Qty 150.00000 Specification	Unit Issue EA	Unit Price \$10.980000 Model #	
Line 3 Comm Code 11101704 Extended Des	Comm Ln Desc 150 EA, REBAR EPOXY COATED GRADE 60 #4 20 FEET STRAIGHT Manufacturer scription: 150 EA, REBAR EPOXY C	Qty 150.00000 Specification COATED GRADE	Unit Issue EA E 60 #4 20 FE	Unit Price \$10.980000 Model #	\$1,647.00 Ln Total Or Contract Amount
Line 3 Comm Code 11101704 Extended Des	Comm Ln Desc 150 EA, REBAR EPOXY COATED GRADE 60 #4 20 FEET STRAIGHT Manufacturer scription: 150 EA, REBAR EPOXY C	Qty 150.00000 Specification COATED GRADE	Unit Issue EA E 60 #4 20 FE	Unit Price \$10.980000 Model #	\$1,647.00 Ln Total Or Contract Amount

Comm Code	Manufacturer	Specification	Model #	
11101704				

362 EA, REBAR EPOXY COATED GRADE 60#5 20FEET STRAIGHT Extended Description :

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	40EA REBAR EPOXY COATED GRADE 60 #6 20FT 18IN BEND	40.00000	EA	\$31.950000	\$1,278.00

Comm Code	Manufacturer	Specification	Model #	
11101704				

Extended Description : 40EA

40EA REBAR EPOXY COATED GRADE 60 #6 20FT 18IN BEND BOTH ENDS

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	50 EA, REBAR EPOXY COATED GRADE 60 #6 20FEET STRAIGHT	50.00000	EA	\$24.750000	\$1,237.50

Comm Code	Manufacturer	Specification	Model #	
11101704				

Extended Description:

50 EA, REBAR EPOXY COATED GRADE 60 #6 20FEET STRAIGHT

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	60 EA, REBAR EPOXY COATED GRADE 60 #8 20FEET STRAIGHT	60.00000	EA	\$43.750000	\$2,625.00

Comm Code	Manufacturer	Specification	Model #	
11101704				

Extended Description:

60 EA, REBAR EPOXY COATED GRADE 60 #8 20FEET STRAIGHT



ALLAN L. MCVEY
CABINET SECRETARY

STATE OF WEST VIRGINIA DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION 2019 WASHINGTON STREET, EAST

CHARLESTON, WEST VIRGINIA 25305-0130

W. MICHAEL SHEETS
DIRECTOR

February 21, 2019

Magee and Associates, LLC 11404 Sparrow Point RD Machipongo, VA 23405-2506

We had her a to fine to.

Mr. Magee:

This is to notify you that your Small, Women-, and Minority-Owned Businesses (SWAM) Certification Application has been approved on the basis of your representations that the vendor named above meets the definition of a Small, Women-, and Minority-Owned Businesses as set forth in the *West Virginia Code of State Rules* 148-22-1 et seq. This certification becomes effective:

2/21/2019

And shall automatically expire without notice two years after the effective date unless revoked by the Purchasing Director or upon expiration pursuant to the *West Virginia Code of State Rules* 148-22-8. The type(s) of Small, Women-, and Minority-Owned Businesses (SWAM) Certification approved for your entity:

Small Business Women Owned Business

To maintain certification without lapse, a certified business shall apply to renew its certification at least 60 days prior to the end of the two-year certification period. Complete renewal instructions, recertification forms, and a list of all SWAM Certified entities are available online at www.state.wv.us/admin/purchase/VendorReg.html.

If you have questions, please contact the West Virginia Purchasing Division at 304-558-2306.

Sincerely,

Lu Anne Cottrill

Assisting Registration Coordinator